Original Bid	CHC Marine Services LLC
	Daniella Juelle
Total Bid Amount:	\$7,196,600.00

Line 1: Mobilization & Demobilization	
Line Quantity 1.0000 LS	1.00
Unit price	\$300,000.00
Extended price	\$300,000.00
Line 2: Maintenance of Traffic (3%)	7500,000.00
Line Quantity 1.0000 LS	1.00
•	1.00
Unit price Extended price	\$20,000.00
-	\$20,000.00
Line 3: As-Built/Record Drawings	
Line Quantity 1.0000 LS	1.00
Unit price	\$5,000.00
Extended price	\$5,000.00
Line 4: Audio-Visual Preconstruction Record	
Line Quantity 1.0000 LS	1.00
Unit price	\$5,000.00
Extended price	\$5,000.00
Line 5: Environmental Controls and Monitoring (2%)	
Line Quantity 1.0000 LS	1.00
Unit price	\$60,000.00
Extended price	\$60,000.00
Line 6: Furnish & Install Gravel Construction Entrance	
Line Quantity 3.0000 EA	3.00
Unit price	\$30,000.00
Extended price	\$90,000.00
Line 7: Furnish & Install Silt Fence	φ50,000.00
	7 500 00
Line Quantity 7500.0000 LF	7,500.00 \$5.00
Line Quantity 7500.0000 LF Unit price	\$5.00
Line Quantity 7500.0000 LF Unit price Extended price	•
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection	\$5.00 \$37,500.00
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS	\$5.00 \$37,500.00 1.00
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS Unit price	\$5.00 \$37,500.00 1.00 \$40,000.00
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS Unit price Extended price	\$5.00 \$37,500.00 1.00
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS Unit price Extended price Line 9: Furnish & Install Turbidity Curtain	\$5.00 \$37,500.00 1.00 \$40,000.00 \$40,000.00
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS Unit price Extended price Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF	\$5.00 \$37,500.00 1.00 \$40,000.00 \$40,000.00
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS Unit price Extended price Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF Unit price	\$5.00 \$37,500.00 1.00 \$40,000.00 \$40,000.00 5,600.00 \$6.00
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS Unit price Extended price Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF Unit price Extended price	\$5.00 \$37,500.00 1.00 \$40,000.00 \$40,000.00
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS Unit price Extended price Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF Unit price Extended price Line 10: General Demolition	\$5.00 \$37,500.00 1.00 \$40,000.00 \$40,000.00 5,600.00 \$6.00
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS Unit price Extended price Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF Unit price Extended price Line 10: General Demolition Line Quantity 1.0000 LS	\$5.00 \$37,500.00 1.00 \$40,000.00 \$40,000.00 5,600.00 \$6.00
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS Unit price Extended price Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF Unit price Extended price Line 10: General Demolition Line Quantity 1.0000 LS Unit price	\$5.00 \$37,500.00 1.00 \$40,000.00 \$40,000.00 5,600.00 \$6.00 \$33,600.00 1.00 \$15,000.00
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS Unit price Extended price Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF Unit price Extended price Line 10: General Demolition Line Quantity 1.0000 LS Unit price Extended price	\$5.00 \$37,500.00 1.00 \$40,000.00 \$40,000.00 5,600.00 \$6.00 \$33,600.00
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS Unit price Extended price Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF Unit price Extended price Line 10: General Demolition Line Quantity 1.0000 LS Unit price	\$5.00 \$37,500.00 1.00 \$40,000.00 \$40,000.00 5,600.00 \$6.00 \$33,600.00 1.00 \$15,000.00
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS Unit price Extended price Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF Unit price Extended price Line 10: General Demolition Line Quantity 1.0000 LS Unit price Extended price	\$5.00 \$37,500.00 1.00 \$40,000.00 \$40,000.00 5,600.00 \$6.00 \$33,600.00 1.00 \$15,000.00
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS Unit price Extended price Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF Unit price Extended price Line 10: General Demolition Line Quantity 1.0000 LS Unit price Extended price Line 11: Clearing, Grubbing, and Removal of Debris	\$5.00 \$37,500.00 1.00 \$40,000.00 \$40,000.00 5,600.00 \$6.00 \$33,600.00 1.00 \$15,000.00 \$15,000.00
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS Unit price Extended price Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF Unit price Extended price Line 10: General Demolition Line Quantity 1.0000 LS Unit price Extended price Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY	\$5.00 \$37,500.00 1.00 \$40,000.00 \$40,000.00 5,600.00 \$6.00 \$33,600.00 1.00 \$15,000.00 \$15,000.00
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS Unit price Extended price Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF Unit price Extended price Line 10: General Demolition Line Quantity 1.0000 LS Unit price Extended price Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY Unit price	\$5.00 \$37,500.00 1.00 \$40,000.00 \$40,000.00 \$6.00 \$33,600.00 1.00 \$15,000.00 \$15,000.00 \$5.00
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS Unit price Extended price Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF Unit price Extended price Line 10: General Demolition Line Quantity 1.0000 LS Unit price Extended price Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY Unit price Extended price Line 12: Removal of Exotics (Over 12" in Diameter)	\$5.00 \$37,500.00 1.00 \$40,000.00 \$40,000.00 \$6.00 \$33,600.00 1.00 \$15,000.00 \$15,000.00 \$5.00
Line Quantity 7500.0000 LF Unit price Extended price Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS Unit price Extended price Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF Unit price Extended price Line 10: General Demolition Line Quantity 1.0000 LS Unit price Extended price Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY Unit price Extended price	\$5.00 \$37,500.00 1.00 \$40,000.00 \$40,000.00 \$6.00 \$33,600.00 1.00 \$15,000.00 \$15,000.00 \$5.00 \$200,000.00

Negotiated Rates	CHC Marine Services LLC
	Daniella Juelle
Total Bid Amount:	\$5,941,100.00

Line 1: Mobilization & Demobilization Line Quantity 1.0000 LS 1.00 Unit price \$250,000.00 Extended price \$250,000.00 Line 2: Maintenance of Traffic (3%) 1.00 Unit price \$20,000.00 Extended price \$20,000.00 Extended price \$20,000.00 Line 3: As-Built/Record Drawings 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Line 4: Audio-Visual Preconstruction Record Line Quantity 1.0000 LS 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Line 5: Environmental Controls and Monitoring (2%) Line Quantity 1.0000 LS 1.00 Unit price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Extended price \$20,000.00 Extended price \$3.00 Unit price \$3.00 Unit price \$3.00		
Unit price \$250,000.00 Extended price \$250,000.00 Line 2: Maintenance of Traffic (3%) Line Quantity 1.0000 LS 1.00 Unit price \$20,000.00 Extended price \$20,000.00 Line 3: As-Built/Record Drawings Line Quantity 1.0000 LS 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Line 4: Audio-Visual Preconstruction Record Line Quantity 1.0000 LS 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Line 5: Environmental Controls and Monitoring (2%) Line Quantity 1.0000 LS 1.00 Unit price \$50,000.00 Extended price \$20,000.00 Extended price \$20,000.00 Extended price \$30,000.00 Extended price \$30,000.00 Extended price \$30,000.00 Line 7: Furnish & Install Silt Fence Line Quantity 7:500.0000 LF 7,500.00 Unit price \$30,000.00 Extended price \$5,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Extended price \$5.00	Line 1: Mobilization & Demobilization	
Extended price \$250,000.00 Line 2: Maintenance of Traffic (3%) Line Quantity 1.0000 LS 1.00 Unit price \$20,000.00 Extended price \$20,000.00 Line 3: As-Built/Record Drawings Line Quantity 1.0000 LS 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Line 4: Audio-Visual Preconstruction Record Line Quantity 1.0000 LS 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Line 5: Environmental Controls and Monitoring (2%) Line Quantity 1.0000 LS 1.00 Unit price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Line 6: Furnish & Install Gravel Construction Entrance Line Quantity 3.0000 EA 3.00 Unit price \$20,000.00 Extended price \$20,000.00 Extended price \$30,000.00 Extended price \$3.00 Extended price \$3.00 Extended price \$30,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Extended price \$15,000.00 Extended price \$5.00	' '	
Line 2: Maintenance of Traffic (3%) Line Quantity 1.0000 LS 1.00 Unit price \$20,000.00 Extended price \$20,000.00 Line 3: As-Built/Record Drawings Line Quantity 1.0000 LS 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Line 4: Audio-Visual Preconstruction Record Line Quantity 1.0000 LS 1.00 Line Quantity 1.0000 LS 5,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Line 5: Environmental Controls and Monitoring (2%) Line Quantity 1.0000 LS 1.00 Unit price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Line 6: Furnish & Install Gravel Construction Entrance Line Quantity 3.0000 EA 3.00 Unit price \$20,000.00 Extended price \$20,000.00 Line 7: Furnish & Install Silt Fence Line Quantity 7500.0000 LF 7,500.00 Unit price \$3.00 Extended price \$3.00 Extended price \$30,000.00 Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$33,600.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity rice \$5.00 Extended price \$5.00 Ex	•	
Line Quantity 1.0000 LS 1.00 Unit price \$20,000.00 Extended price \$20,000.00 Line 3: As-Built/Record Drawings 1.00 Line Quantity 1.0000 LS 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Line 4: Audio-Visual Preconstruction Record 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Line Quantity 1.0000 LS 1.00 Unit price \$50,000.00 Extended price \$60,000.00 Extended price \$3.00 Unit price \$3.00 Extended price \$22,500.00 Extended price \$3.00 Extended price \$30,000.00 Extended price \$30,000.00 Extended price \$30,000.00 Extended price \$30,000.00 </td <td>·</td> <td>\$250,000.00</td>	·	\$250,000.00
Unit price \$20,000.00 Extended price \$20,000.00 Line 3: As-Built/Record Drawings Line Quantity 1.0000 LS 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Line 4: Audio-Visual Preconstruction Record Line Quantity 1.0000 LS 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Line 5: Environmental Controls and Monitoring (2%) Line Quantity 1.0000 LS 1.00 Unit price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Extended price \$20,000.00 Extended price \$20,000.00 Extended price \$3.00 Extended price \$3.000.00 Extended price \$1.00 Unit price \$3.000.00 Extended price \$1.00 Unit price \$1.000 Extended price \$1.5,000.00		
Extended price \$20,000.00 Line 3: As-Built/Record Drawings Line Quantity 1.0000 LS 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Line 4: Audio-Visual Preconstruction Record Line Quantity 1.0000 LS 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Line 5: Environmental Controls and Monitoring (2%) Line Quantity 1.0000 LS 1.00 Unit price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Line 6: Furnish & Install Gravel Construction Entrance Line Quantity 3.0000 EA 3.00 Unit price \$20,000.00 Extended price \$20,000.00 Line 7: Furnish & Install Silt Fence Line Quantity 7500.0000 LF 7,500.00 Unit price \$3.00 Extended price \$3.00 Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$6.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity rice \$5.00 Extended price \$5		
Line 3: As-Built/Record Drawings Line Quantity 1.0000 LS 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Line 4: Audio-Visual Preconstruction Record Line Quantity 1.0000 LS 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Line 5: Environmental Controls and Monitoring (2%) Line Quantity 1.0000 LS 1.00 Unit price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Line 6: Furnish & Install Gravel Construction Entrance Line Quantity 3.0000 EA 3.00 Unit price \$20,000.00 Extended price \$60,000.00 Line 7: Furnish & Install Silt Fence Line Quantity 7500.0000 LF 7,500.00 Unit price \$3.00 Extended price \$3.00 Extended price \$30,000.00 Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Extended price \$33,600.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00	·	
Line Quantity 1.0000 LS 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Line 4: Audio-Visual Preconstruction Record Line Quantity 1.0000 LS 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Line 5: Environmental Controls and Monitoring (2%) Line Quantity 1.0000 LS 1.00 Unit price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Line 6: Furnish & Install Gravel Construction Entrance Line Quantity 3.0000 EA 3.00 Unit price \$20,000.00 Extended price \$20,000.00 Extended price \$30,000.00 Extended price \$3.00 Extended price \$3.00 Extended price \$3.00 Extended price \$3.00 Extended price \$30,000.00 Extended price \$5,000.00 Unit price \$30,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Extended price \$5,000.00 Extended price \$5,00	·	\$20,000.00
Unit price \$5,000.00 Line 4: Audio-Visual Preconstruction Record Line Quantity 1.0000 LS 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Extended price \$5,000.00 Line 5: Environmental Controls and Monitoring (2%) Line Quantity 1.0000 LS 1.00 Unit price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Line 6: Furnish & Install Gravel Construction Entrance Line Quantity 3.0000 EA 3.00 Unit price \$20,000.00 Extended price \$20,000.00 Extended price \$30,000.00 Line 7: Furnish & Install Silt Fence Line Quantity 7500.0000 LF 7,500.00 Unit price \$3.00 Extended price \$32,500.00 Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Extended price \$33,600.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$33,600.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Extended price \$5.00	-	4.00
Extended price \$5,000.00 Line 4: Audio-Visual Preconstruction Record Line Quantity 1.0000 LS 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Line 5: Environmental Controls and Monitoring (2%) Line Quantity 1.0000 LS 1.00 Unit price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Line 6: Furnish & Install Gravel Construction Entrance Line Quantity 3.0000 EA 3.00 Unit price \$20,000.00 Extended price \$20,000.00 Line 7: Furnish & Install Silt Fence Line Quantity 7500.0000 LF 7,500.00 Unit price \$3.00 Extended price \$22,500.00 Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Extended price \$30,000.00 Extended price \$50,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 7000.000 Extended price \$5.00 Extended price \$5.		
Line 4: Audio-Visual Preconstruction Record Line Quantity 1.0000 LS 1.00 Unit price \$5,000.00 Extended price \$5,000.00 Line 5: Environmental Controls and Monitoring (2%) Line Quantity 1.0000 LS 1.00 Unit price \$50,000.00 Extended price \$50,000.00 Line 6: Furnish & Install Gravel Construction Entrance Line Quantity 3.0000 EA 3.00 Unit price \$20,000.00 Extended price \$20,000.00 Line 7: Furnish & Install Silt Fence Line Quantity 7500.0000 LF 7,500.00 Unit price \$3.00 Extended price \$22,500.00 Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Extended price \$30,000.00 Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$33,600.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$5.00	•	• •
Line Quantity 1.0000 LS	·	
Unit price \$5,000.00 Line 5: Environmental Controls and Monitoring (2%) Line Quantity 1.0000 LS 1.00 Unit price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Line 6: Furnish & Install Gravel Construction Entrance Line Quantity 3.0000 EA 3.00 Unit price \$20,000.00 Extended price \$20,000.00 Line 7: Furnish & Install Silt Fence Line Quantity 7500.0000 LF 7,500.00 Unit price \$3.00 Extended price \$22,500.00 Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.000 SY 40,000.00 Unit price \$5.00 Extended price \$5.00		
Extended price \$5,000.00 Line 5: Environmental Controls and Monitoring (2%) Line Quantity 1.0000 LS 1.00 Unit price \$50,000.00 Extended price \$50,000.00 Line 6: Furnish & Install Gravel Construction Entrance Line Quantity 3.0000 EA 3.00 Unit price \$20,000.00 Extended price \$20,000.00 Extended price \$60,000.00 Line 7: Furnish & Install Silt Fence Line Quantity 7500.0000 LF 7,500.00 Unit price \$3.00 Extended price \$22,500.00 Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity rice \$5.00 Extended price \$5.00		
Line 5: Environmental Controls and Monitoring (2%) Line Quantity 1.0000 LS 1.00 Unit price \$50,000.00 Extended price \$50,000.00 Line 6: Furnish & Install Gravel Construction Entrance Line Quantity 3.0000 EA 3.00 Unit price \$20,000.00 Extended price \$20,000.00 Line 7: Furnish & Install Silt Fence Line Quantity 7500.0000 LF 7,500.00 Unit price \$3.00 Extended price \$22,500.00 Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$5.00	•	
Line Quantity 1.0000 LS 1.00 Unit price \$50,000.00 Extended price \$50,000.00 Line 6: Furnish & Install Gravel Construction Entrance Line Quantity 3.0000 EA 3.00 Unit price \$20,000.00 Extended price \$60,000.00 Line 7: Furnish & Install Silt Fence Line Quantity 7500.0000 LF 7,500.00 Unit price \$3.00 Extended price \$22,500.00 Line 8: Furnish & Install Tree Protection 1.00 Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 10: General Demolition 1.00 Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Extended price \$50.00 Line Quantity 40000.0000 SY 40,000.00 Unit price		. ,
Unit price \$50,000.00 Extended price \$50,000.00 Line 6: Furnish & Install Gravel Construction Entrance Line Quantity 3.0000 EA 3.00 Unit price \$20,000.00 Extended price \$60,000.00 Line 7: Furnish & Install Silt Fence Line Quantity 7500.0000 LF 7,500.00 Unit price \$3.00 Extended price \$32,500.00 Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Extended price \$30,000.00 Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Line 11: Clearing \$5.00 Extended price \$5.00		
Extended price \$50,000.00 Line 6: Furnish & Install Gravel Construction Entrance Line Quantity 3.0000 EA 3.00 Unit price \$20,000.00 Extended price \$60,000.00 Line 7: Furnish & Install Silt Fence Line Quantity 7500.0000 LF 7,500.00 Unit price \$3.00 Extended price \$32,500.00 Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Line 11: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.000	•	
Line Quantity 3.0000 EA 3.00 Unit price \$20,000.00 Extended price \$60,000.00 Line 7: Furnish & Install Silt Fence Line Quantity 7500.0000 LF 7,500.00 Unit price \$3.00 Extended price \$22,500.00 Line 8: Furnish & Install Tree Protection 1.00 Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition 1.00 Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00	'	\$50,000.00
Line Quantity 3.0000 EA 3.00 Unit price \$20,000.00 Extended price \$60,000.00 Line 7: Furnish & Install Silt Fence Line Quantity 7500.0000 LF 7,500.00 Unit price \$3.00 Extended price \$22,500.00 Line 8: Furnish & Install Tree Protection 1.00 Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition 1.00 Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00	Line 6: Furnish & Install Gravel Constru	ction Entrance
Extended price \$60,000.00 Line 7: Furnish & Install Silt Fence Line Quantity 7500.0000 LF 7,500.00 Unit price \$3.00 Extended price \$22,500.00 Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$5.00 Extended price \$5.00 Extended price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA		
Line 7: Furnish & Install Silt Fence Line Quantity 7500.0000 LF 7,500.00 Unit price \$3.00 Extended price \$22,500.00 Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$5.00	Unit price	\$20,000.00
Line Quantity 7500.000 LF 7,500.00 Unit price \$3.00 Extended price \$22,500.00 Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition 1.00 Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00	Extended price	\$60,000.00
Unit price \$3.00 Extended price \$22,500.00 Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$5.00 Extended price \$5.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.000	Line 7: Furnish & Install Silt Fence	
Extended price \$22,500.00 Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$330,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$30,000.000 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA	Line Quantity 7500.0000 LF	7,500.00
Line 8: Furnish & Install Tree Protection Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition 1.00 Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00	Unit price	·
Line Quantity 1.0000 LS 1.00 Unit price \$30,000.00 Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00	•	
Unit price \$30,000.00 Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$5.00 Extended price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA		
Extended price \$30,000.00 Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00		
Line 9: Furnish & Install Turbidity Curtain Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition 1.00 Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00	•	
Line Quantity 5600.0000 LF 5,600.00 Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition \$15,000.00 Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00		
Unit price \$6.00 Extended price \$33,600.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00	-	
Extended price \$33,600.00 Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00	•	•
Line 10: General Demolition Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00	•	·
Line Quantity 1.0000 LS 1.00 Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00		\$55,000.00
Unit price \$15,000.00 Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00		1 00
Extended price \$15,000.00 Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00	•	
Line 11: Clearing, Grubbing, and Removal of Debris Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00	· ·	
Line Quantity 40000.0000 SY 40,000.00 Unit price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00		
Unit price \$5.00 Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00		
Extended price \$200,000.00 Line 12: Removal of Exotics (Over 12" in Diameter) Line Quantity 300.0000 EA 300.00	•	•
Line Quantity 300.0000 EA 300.00	Extended price	\$200,000.00
	Line 12: Removal of Exotics (Over 12" i	n Diameter)
Unit price \$850.00	1 · · · · · · · · · · · · · · · · · · ·	300.00
	Unit price	\$850.00

Unit price

Extended price

Line 23: Grading for Shoreline Stabilization

Original Bid	CHC Marine Services LLC
	Daniella Juelle
Total Bid Amount:	\$7,196,600.00
Extended price	\$255,000.00
Line 13: Mangrove Trimming with C	Insite Professional Trimmer
Line Quantity 6000.0000 SY	6,000.00
Unit price	\$16.00
Extended price	\$96,000.00
Line 14: Mangrove Removal	3,000,00
Line Quantity 3000.0000 SY Unit price	3,000.00 \$16.00
Extended price	\$48,000.00
Line 15: Existing Tree Trimming (Ove	. ,
Mangroves)	er 12 in Diameter, Excluding
Line Quantity 300.0000 EA	300.00
Unit price	\$400.00
Extended price	\$120,000.00
Line 16: Dredging Plan, Schedule, H	ydrographic Surveys
Line Quantity 1.0000 LS	1.00
Unit price	\$150,000.00
Extended price	\$150,000.00
Line 17: Maintenance Dredging	
Line Quantity 6000.0000 CY	6,000.00
Unit price	\$395.00
Extended price	\$2,370,000.00
Line 18: Spoil Pile Containment Area	
Line Quantity 6000.0000 SF	6,000.00
Unit price Extended price	\$25.00
Line 19: Hauling and Disposal of Dre	\$150,000.00
Line Quantity 10000.0000 CY	10,000.00
Unit price	\$175.00
Extended price	\$1,750,000.00
·	. , ,
Line 20: Desilt/Water Jetting Existin	g Drainage Box Culvert up to 72
Line Quantity 800.0000 LF	800.00
Unit price	\$320.00
Extended price	\$256,000.00
Line 21: Remove & Dispose of Existi	ng Trees (Over 12" in Diameter)
Line Quantity 200.0000 EA	200.00
Unit price	\$600.00
Extended price	\$120,000.00
Line 22: Remove & Relocate Existing Maximum Clear Trunk 8')	g Trees (12" in Diameter or Less,
Line Quantity 100.0000 EA	100.00
Line Quality 100.0000 LA	100.00 ¢r. 000.00

Negotiated Rates	CHC Marine Services LLC
	Daniella Juelle
Total Bid Amount:	\$5,941,100.00

Total Bia Alliount.	73,541,100.00
Extended price	\$255,000.00
Line 13: Mangrove Trimming with O	nsite Professional Trimn
Line Quantity 6000.0000 SY	6,000.00
Unit price	\$16.00
Extended price	\$96,000.00
Line 14: Mangrove Removal	φ30,000.00
Line Quantity 3000.0000 SY	2 000 00
	3,000.00
Unit price Extended price	\$16.00
'	\$48,000.00
Line 15: Existing Tree Trimming (Ove	er 12" in Diameter,
Excluding Mangroves)	
Line Quantity 300.0000 EA	300.00
Unit price	\$350.00
Extended price	\$105,000.00
Line 16: Dredging Plan, Schedule, Hy	
Line Quantity 1.0000 LS	1.00
Unit price	\$150,000.00
Extended price	\$150,000.00
Line 17: Maintenance Dredging	Ψ130,000.00
Line Quantity 6000.0000 CY	6,000.00
Unit price	\$300.00
•	\$1,800,000.00
Extended price	. , ,
Line 18: Spoil Pile Containment Area	
Line Quantity 6000.0000 SF	6,000.00
Unit price	\$20.00
Extended price	\$120,000.00
Line 19: Hauling and Disposal of Dre	dged Material
Line Quantity 10000.0000 CY	10,000.00
Unit price	\$150.00
Extended price	\$1,500,000.00
Line 20: Desilt/Water Jetting Existing	g Drainage Box Culvert
up to 72	
Line Quantity 800.0000 LF	800.00
Unit price	\$300.00
Extended price	\$240,000.00
Line 21: Remove & Dispose of Existi	
Diameter)	ing Trees (Over 12 III
•	200.00
Line Quantity 200.0000 EA	200.00
Unit price	\$600.00
Extended price	\$120,000.00
Line 22: Remove & Relocate Existing	Trees (12" in Diameter
or Less, Maximum Clear Trunk 8')	
Line Quantity 100.0000 EA	100.00
Unit price	\$3,200.00
Extended price	\$320,000.00
Line 23: Grading for Shoreline Stabil	
Line 23. Grading for Shoreline Stabil	1241011

\$5,000.00 \$500,000.00

Original Bid	CHC Marine Services LLC
	Daniella Juelle
Total Bid Amount:	\$7,196,600.00

Unit price \$2.00 Extended price \$56,000.00 Line 24: Furnish & Install Geotextile Fabric 2,000.00 Line Quantity 2000.0000 SY 2,000.00 Extended price \$10.00 Extended price \$20,000.00 Line Quantity 300.0000 CY 300.00 Unit price \$300.00 Extended price \$90,000.00 Line Quantity 2000.0000 SY 2,000.00 Unit price \$15.00 Extended price \$15.00 Extended price \$30,000.00 Unit price \$15.00 Extended price \$50,000.00 Unit price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Line Quantity 50.0000 EA \$0.00 Unit price \$1,000.00 Extended price \$1,000.00<		
Extended price \$56,000.00 Line 24: Furnish & Install Geotextile Fabric Line Quantity 2000.0000 SY 2,000.00 Unit price \$10.00 Extended price \$20,000.00 Line 25: Furnish & Install Riprap Line Quantity 300.0000 CY 300.00 Unit price \$300.00 Extended price \$90,000.00 Extended price \$90,000.00 Line 26: Furnish & Install Coir Matting Line Quantity 2000.0000 SY 2,000.00 Line 27: Furnish & Install Coir Log Line Quantity 2000.0000 LF 2,000.00 Line 27: Furnish & Install Coir Log Line Quantity 2000.0000 LF 2,000.00 Line 28: Furnish & Install Native Trees - Balled and Burlapped - 45 Line Quantity 50.0000 EA 50,000.00 Line 29: Furnish & Install Native Trees - Balled and Burlapped - 45 Line Quantity 15.0000 EA 50,000.00 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$1,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 15.00 Unit price \$3,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$4,000.00 Extended price \$5,000.00 Extended price \$5,000.	Line Quantity 28000.0000 SF	28,000.00
Line 24: Furnish & Install Geotextile Fabric Line Quantity 2000.0000 SY 2,000.00 Extended price \$10.00 Extended price \$220,000.00 Line 25: Furnish & Install Riprap Line Quantity 300.0000 CY 300.00 Extended price \$300.00 Extended price \$99,000.00 Extended price \$99,000.00 Extended price \$90,000.00 Extended price \$90,000.00 Line 26: Furnish & Install Coir Matting Line Quantity 2000.0000 SY 2,000.00 Unit price \$15.00 Extended price \$15.00 Line 27: Furnish & Install Coir Log Line Quantity 2000.0000 LF 2,000.00 Line 27: Furnish & Install Coir Log Line Quantity 2000.0000 LF 2,000.00 Line 28: Furnish & Install Native Trees - Balled and Burlapped - 45 Line Quantity 50.0000 EA 50.00 Extended price \$1,000.00 Extended price \$50,000.00 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$2,000.000 Extended price \$2,000.00	Unit price	\$2.00
Line Quantity 2000.0000 SY 2,000.00 Extended price \$10.00 Extended price \$20,000.00 Line 25: Furnish & Install Riprap 300.00 Unit price \$300.00 Extended price \$90,000.00 Line Quantity 2000.0000 SY 2,000.00 Unit price \$15.00 Extended price \$15.00 Extended price \$15.00 Extended price \$25.00 Line Quantity 2000.0000 LF 2,000.00 Unit price \$25.00 Extended price \$50,000.00 Line Quantity 50.0000 EA 50.00 Unit price \$1,000.00 Extended price \$1,000.00	Extended price	\$56,000.00
Unit price \$10.00 Extended price \$20,000.00 Line 25: Furnish & Install Riprap 300.00 Unit price \$300.00 Extended price \$90,000.00 Line Quantity 2000.0000 SY 2,000.00 Unit price \$15.00 Extended price \$15.00 Extended price \$30,000.00 Line 27: Furnish & Install Coir Log 2,000.00 Unit price \$50,000.00 Extended price \$50,000.00 Unit price \$50,000.00 Extended price \$50,000.00 Line Quantity 50.0000 EA 50.00 Unit price \$1,000.00 Extended price \$1,000.00 Extended price \$1,000.00 Extended price \$1,000.00 Extended price \$15.00 Unit price \$1,000.00 Extended price \$1,000.00 <td>Line 24: Furnish & Install Geotextile Fabric</td> <td></td>	Line 24: Furnish & Install Geotextile Fabric	
Extended price \$20,000.00 Line 25: Furnish & Install Riprap Line Quantity 300.0000 CY 300.00 Extended price \$300.00 Extended price \$90,000.00 Line 26: Furnish & Install Coir Matting \$15.00 Line Quantity 2000.0000 SY 2,000.00 Extended price \$15.00 Extended price \$30,000.00 Line Quantity 2000.0000 LF 2,000.00 Unit price \$25.00 Extended price \$50,000.00 Line Quantity 50.0000 EA 50.00 Unit price \$1,000.00 Extended price \$50,000.00 Extended price \$1,000.00 Extended price \$1	Line Quantity 2000.0000 SY	2,000.00
Line 25: Furnish & Install Riprap Line Quantity 300.000 CY 300.00 Extended price \$90,000.00 Line 26: Furnish & Install Coir Matting Line Quantity 2000.0000 SY 2,000.00 Extended price \$15.00 Extended price \$15.00 Extended price \$30,000.00 Line 27: Furnish & Install Coir Log Line Quantity 2000.0000 LF 2,000.00 Line 27: Furnish & Install Coir Log Line Quantity 2000.0000 LF 2,000.00 Line 28: Furnish & Install Native Trees - Balled and Burlapped - 45 Line Quantity 50.0000 EA 50,000.00 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$1,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 51,000.00 Extended price \$1,000.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$25.00	Unit price	\$10.00
Line Quantity 300.000 CY 300.00 Unit price \$300.00 Extended price \$90,000.00 Line 26: Furnish & Install Coir Matting Line Quantity 2000.0000 SY 2,000.00 Extended price \$15.00 Extended price \$15.00 Extended price \$30,000.00 Line 27: Furnish & Install Coir Log Line Quantity 2000.0000 LF 2,000.00 Line 27: Furnish & Install Coir Log Line Quantity 2000.0000 LF 2,000.00 Extended price \$25,000 Extended price \$50,000.00 Line 28: Furnish & Install Native Trees - Balled and Burlapped - 45 Line Quantity 50.0000 EA 50.00 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 50.00 Unit price \$1,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 50.00 Unit price \$40.00 Extended price \$25.00	Extended price	\$20,000.00
Unit price \$300.00 Extended price \$90,000.00 Line 26: Furnish & Install Coir Matting Line Quantity 2000.0000 SY 2,000.00 Unit price \$15.00 Extended price \$15.00 Extended price \$15.00 Extended price \$2,000.00 Line 27: Furnish & Install Coir Log Line Quantity 2000.0000 LF 2,000.00 Unit price \$25.00 Extended price \$50,000.00 Extended price \$50,000.00 Extended price \$50,000.00 Line 28: Furnish & Install Native Trees - Balled and Burlapped - 45 Line Quantity 50.0000 EA 50.00 Unit price \$1,000.00 Extended price \$50,000.00 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$1,000.00 Unit price \$1,000.00 Extended price \$1,000.00 Extended price \$1,000.00 Extended price \$2,000.00 Unit price \$2,000.00 Unit price \$2,000.00 Extended price \$2,000.00	Line 25: Furnish & Install Riprap	
Extended price \$90,000.00 Line 26: Furnish & Install Coir Matting Line Quantity 2000.0000 SY 2,000.00 Unit price \$15.00 Extended price \$30,000.00 Line 27: Furnish & Install Coir Log Line Quantity 2000.0000 LF 2,000.00 Unit price \$25.00 Extended price \$25.00 Extended price \$50,000.00 Line 28: Furnish & Install Native Trees - Balled and Burlapped - 45 Line Quantity 50.0000 EA 50,000.00 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$25.00	Line Quantity 300.0000 CY	300.00
Line 26: Furnish & Install Coir Matting Line Quantity 2000.0000 SY 2,000.00 Extended price \$15.00 Extended price \$30,000.00 Line 27: Furnish & Install Coir Log Line Quantity 2000.0000 LF 2,000.00 Unit price \$25.00 Extended price \$550,000.00 Extended price \$550,000.00 Line 28: Furnish & Install Native Trees - Balled and Burlapped - 45 Line Quantity 50.0000 EA 50.000 Unit price \$1,000.00 Extended price \$1,000.00 Extended price \$50,000.00 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$1,000.00 Extended price \$15,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$25.00	Unit price	\$300.00
Line Quantity 2000.000 SY 2,000.00 Unit price \$15.00 Extended price \$30,000.00 Line 27: Furnish & Install Coir Log Line Quantity 2000.0000 LF 2,000.00 Unit price \$25.00 Extended price \$25.00 Extended price \$50,000.00 Line 28: Furnish & Install Native Trees - Balled and Burlapped - 45 Line Quantity 50.0000 EA 50,000 Unit price \$1,000.00 Extended price \$1,000.00 Extended price \$50,000.00 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$1,000.00 Extended price \$1,000.00 Extended price \$1,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$1,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 500.00 Unit price \$1,000.00 Extended price \$20,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$25.00	Extended price	\$90,000.00
Unit price \$15.00 Extended price \$30,000.00 Line 27: Furnish & Install Coir Log Line Quantity 2000.000 LF 2,000.00 Unit price \$25.00 Extended price \$55,000.00 Line 28: Furnish & Install Native Trees - Balled and Burlapped - 45 Line Quantity 50.0000 EA 50,000.00 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$1,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$1,000.00 Extended price \$1,000.00 Extended price \$1,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$20,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$25.00	Line 26: Furnish & Install Coir Matting	
Extended price \$30,000.00 Line 27: Furnish & Install Coir Log Line Quantity 2000.0000 LF 2,000.000 Unit price \$25.00 Extended price \$50,000.000 Line 28: Furnish & Install Native Trees - Balled and Burlapped - 45 Line Quantity 50.0000 EA 50.000 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.000 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.000 Extended price \$1,000.00 Extended price \$15,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.000 Line 33: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.000 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.000 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.000 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.000 Line 34: Furnish & Install Sod Line Quantity 2500.0000 SY 2,500.000	Line Quantity 2000.0000 SY	2,000.00
Line 27: Furnish & Install Coir Log Line Quantity 2000.0000 LF 2,000.00 Unit price \$25.00 Extended price \$50,000.00 Line 28: Furnish & Install Native Trees - Balled and Burlapped - 45 Line Quantity 50.0000 EA 50.000 Extended price \$1,000.00 Extended price \$50,000.00 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$1,000.00 Extended price \$35,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Extended price \$40.00 Extended price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$25.00 Extended price \$12,500.00 Line 34: Furnish & Install Sod Line Quantity 2500.0000 SY 2,500.00	Unit price	\$15.00
Line Quantity 2000.000 LF 2,000.00 Unit price \$25.00 Extended price \$50,000.00 Line 28: Furnish & Install Native Trees - Balled and Burlapped - 45 Line Quantity 50.0000 EA 50.00 Unit price \$1,000.00 Extended price \$50,000.00 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$35,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$20,000.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quan	Extended price	\$30,000.00
Unit price \$25.00 Extended price \$50,000.00 Line 28: Furnish & Install Native Trees - Balled and Burlapped - 45 Line Quantity 50.0000 EA 50,000.00 Extended price \$1,000.00 Extended price \$50,000.00 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Extended price \$20,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$25.00	Line 27: Furnish & Install Coir Log	
Extended price \$50,000.00 Line 28: Furnish & Install Native Trees - Balled and Burlapped - 45 Line Quantity 50.0000 EA 50.000 Unit price \$1,000.00 Extended price \$50,000.00 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$35,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$25.00	Line Quantity 2000.0000 LF	2,000.00
Line 28: Furnish & Install Native Trees - Balled and Burlapped - 45 Line Quantity 50.0000 EA 50.000 Unit price \$1,000.00 Extended price \$50,000.00 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$1,000.00 Extended price \$1,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$25.00 Extended price \$12,500.000 Line 34: Furnish & Install Sod Line Quantity 2500.0000 SY 2,500.000	Unit price	\$25.00
Line Quantity 50.000 EA 50.000 Unit price \$1,000.00 Extended price \$50,000.00 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$1,000.00 Extended price \$1,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$25.00	Extended price	\$50,000.00
Unit price \$1,000.00 Extended price \$50,000.00 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$1,000.00 Extended price \$1,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended Price \$25.00	Line 28: Furnish & Install Native Trees - Balle	ed and Burlapped - 45
Extended price \$50,000.00 Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$1,000.00 Extended price \$35,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended Price \$25.00	Line Quantity 50.0000 EA	50.00
Line 29: Furnish & Install Conocarpus erectus (Green Buttonwood) - 45 Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$1,000.00 Extended price \$35,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended Price \$25.00	Unit price	\$1,000.00
Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$1,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended Price \$25.00	Extended price	\$50,000.00
Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$1,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended Price \$25.00	Line 29: Furnish & Install Conocarpus erectu	s (Green Buttonwood) -
Unit price \$1,000.00 Extended price \$15,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$1,000.00 Extended price \$35,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended Price \$25.00	45	
Extended price \$15,000.00 Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$35,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended Price \$25.00	Line Quantity 15.0000 EA	15.00
Line 30: Furnish & Install Bursera Simaruba (Gumbo Limbo) - 12' High Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$35,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$15,000.00 Extended price \$15,000.00 Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$25.00 Extended price \$12,500.00 Line 34: Furnish & Install Sod Line Quantity 2500.0000 SY	Unit price	\$1,000.00
Line Quantity 35.0000 EA 35.00 Unit price \$1,000.00 Extended price \$35,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$12,500.00 Line 34: Furnish & Install Sod Line Quantity 2500.0000 SY 2,500.00	Extended price	\$15,000.00
Unit price \$1,000.00 Extended price \$35,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$25.00	Line 30: Furnish & Install Bursera Simaruba	(Gumbo Limbo) - 12' High
Extended price \$35,000.00 Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended Price \$25.00	Line Quantity 35.0000 EA	35.00
Line 31: Conocarpus Erectus Sericeus (Silver Buttonwood) Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$12,500.00 Line 34: Furnish & Install Sod Line Quantity 2500.0000 SY 2,500.00	Unit price	\$1,000.00
Line Quantity 15.0000 EA 15.00 Unit price \$1,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$12,500.00 Line 34: Furnish & Install Sod Line Quantity 2500.0000 SY 2,500.00	Extended price	\$35,000.00
Unit price \$1,000.00 Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$25.00 Extended price \$12,500.00 Line 34: Furnish & Install Sod Line Quantity 2500.0000 SY 2,500.00	Line 31: Conocarpus Erectus Sericeus (Silver	Buttonwood)
Extended price \$15,000.00 Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$12,500.00 Line 34: Furnish & Install Sod Line Quantity 2500.0000 SY 2,500.00	Line Quantity 15.0000 EA	15.00
Line 32: Furnish & Install Native Shrubs Line Quantity 500.0000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$12,500.00 Line 34: Furnish & Install Sod Line Quantity 2500.0000 SY 2,500.00	Unit price	\$1,000.00
Line Quantity 500.000 EA 500.00 Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$12,500.00 Line 34: Furnish & Install Sod Line Quantity 2500.0000 SY 2,500.00	Extended price	\$15,000.00
Unit price \$40.00 Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$12,500.00 Line 34: Furnish & Install Sod Line Quantity 2500.0000 SY 2,500.00	Line 32: Furnish & Install Native Shrubs	
Extended price \$20,000.00 Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$12,500.00 Line 34: Furnish & Install Sod Line Quantity 2500.0000 SY 2,500.00	Line Quantity 500.0000 EA	500.00
Line 33: Furnish & Install Native Grasses, Groundcovers, Perennials Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$12,500.00 Line 34: Furnish & Install Sod Line Quantity 2500.0000 SY 2,500.00	Unit price	\$40.00
Line Quantity 500.0000 EA 500.00 Unit price \$25.00 Extended price \$12,500.00 Line 34: Furnish & Install Sod 2,500.00 Line Quantity 2500.0000 SY 2,500.00	Extended price	\$20,000.00
Unit price \$25.00 Extended price \$12,500.00 Line 34: Furnish & Install Sod Line Quantity 2500.0000 SY 2,500.00	Line 33: Furnish & Install Native Grasses, Gr	oundcovers, Perennials
Extended price \$12,500.00 Line 34: Furnish & Install Sod Line Quantity 2500.0000 SY 2,500.00	Line Quantity 500.0000 EA	500.00
Line 34: Furnish & Install Sod Line Quantity 2500.0000 SY 2,500.00	Unit price	\$25.00
Line Quantity 2500.0000 SY 2,500.00	Extended price	\$12,500.00
	Line 34: Furnish & Install Sod	
Unit price \$20.00	Line Quantity 2500.0000 SY	2,500.00
	Unit price	\$20.00

Negotiated Rates	CHC Marine Services LLC
	Daniella Juelle
Total Bid Amount:	\$5,941,100.00

Total Bid Amount:	\$5,941,100.00
Line Quantity 28000.0000 SF	28,000.00
Unit price	\$2.00
Extended price	\$56,000.00
Line 24: Furnish & Install Geotexti	
Line Quantity 2000.0000 SY	2,000.00
Unit price Extended price	\$8.00
·	\$16,000.00
Line 25: Furnish & Install Riprap Line Quantity 300.0000 CY	300.00
Unit price	\$300.00
Extended price	\$90,000.00
Line 26: Furnish & Install Coir Mat	
Line Quantity 2000.0000 SY	2,000.00
Unit price	\$12.00
Extended price	\$24,000.00
Line 27: Furnish & Install Coir Log	. ,
Line Quantity 2000.0000 LF	2,000.00
Unit price	\$22.00
Extended price	\$44,000.00
Line 28: Furnish & Install Native To	rees - Balled and Burlappe
Line Quantity 50.0000 EA	50.00
Unit price	\$850.00
Extended price	\$42,500.00
Line 29: Furnish & Install Conocar	pus erectus (Green
Buttonwood) - 45	15.00
Line Quantity 15.0000 EA	15.00
Unit price Extended price	\$900.00 \$13,500.00
Line 30: Furnish & Install Bursera	
Line Quantity 35.0000 EA	35.00
Unit price	\$1,000.00
Extended price	\$35,000.00
Line 31: Conocarpus Erectus Serice	
Line Quantity 15.0000 EA	15.00
Unit price	\$900.00
Extended price	\$13,500.00
Line 32: Furnish & Install Native Sl	hrubs
Line Quantity 500.0000 EA	500.00
Unit price	\$40.00
Extended price	\$20,000.00
Line 33: Furnish & Install Native G	
Line Quantity 500.0000 EA	500.00
Unit price	\$22.00
Extended price	\$11,000.00
Line 34: Furnish & Install Sod	2 500 00
Line Quantity 2500.0000 SY	2,500.00

\$12.00

Unit price

Page 3 of 4

Original Bid	CHC Marine Services LLC
	Daniella Juelle
Total Bid Amount:	\$7,196,600.00

Extended price	\$50,000.00
Line 35: Furnish & Install Shredded Hardwood Mulch	
Line Quantity 300.0000 CY	300.00
Unit price	\$90.00
Extended price	\$27,000.00
Line 36: Remove and Relocate Fencing	
Line Quantity 1500.0000 LF	1,500.00
Unit price	\$10.00
Extended price	\$15,000.00
Line 37: Remove and Replace Fencing	
Line Quantity 1500.0000 LF	1,500.00
Unit price	\$40.00
Extended price	\$60,000.00
Line 38: Furnish & Install Permanent Access Gates	
Line Quantity 3.0000 EA	3.00
Unit price	\$10,000.00
Extended price	\$30,000.00

Negotiated Rates	CHC Marine Services LLC
	Daniella Juelle
Total Bid Amount:	\$5,941,100.00

-		
Extended price	\$30,000.00	
Line 35: Furnish & Install Shredded Hardwood Mulch		
Line Quantity 300.0000 CY	300.00	
Unit price	\$60.00	
Extended price	\$18,000.00	
Line 36: Remove and Relocate Fencing		
Line Quantity 1500.0000 LF	1,500.00	
Unit price	\$10.00	
Extended price	\$15,000.00	
Line 37: Remove and Replace Fencing		
Line Quantity 1500.0000 LF	1,500.00	
Unit price	\$40.00	
Extended price	\$60,000.00	
Line 38: Furnish & Install Permanent A	ccess Gates	
Line Quantity 3.0000 EA	3.00	
Unit price	\$2,500.00	
Extended price	\$7,500.00	

Note: One untimely bid from Bayside Dredging was received via email and not through Infor. All bids were due by Wednesday, May 24, 2023 at 2:00:00 PM. This vendor's email bid was received on Thursday, May 25, 2023 10:43 AM. Therefore, the bid from Bayside Dredging was deemed non-responsive.